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Answer all questions in the spaces provided.

Total for this question: 27 marks

Bob isasole trader. The following information is available.

£
Current assets 42 000
Current liabilities 30 000

Additional information
Included in current assets is stock 9000

Year ended 31 December 2005 Year ended 31 December 2006

£
54 000
45 000

24 000

REQUIRED

(8 Explain the meaning of the term ‘working capital’.

(b) Calculate the current ratio. State the formula used.

FOIMUIAL ... et e e
Workings

at 31 December 2005 at 31 December 2006
CUITENE TAtiO .o CUITENt ratio ..o
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(c) Caculate the acid test ratio. State the formula used.

FOMMUIA ... ettt bbbttt e et et sb e b s benneene e
Workings
at 31 December 2005 at 31 December 2006
ACIA teSt ratio ...ovveevereeeieeieiecee e ACIA tESE Fatio ....ocveveeeeviiriereeeee e
(7 marks)
(d) Explain the significance of the change in:
[ I L= o0 T4 = 18 = € o S
(i) the ACIA tESE FALIO. ...ccveeeeeeeesieeie sttt sttt e b e te e e sreeseeneesneenens
(6 marks)

(e) Explain why the acid test ratio gives a better indication than the current ratio of how
well liquidity is being managed.

www.theallpapers.com

LEAVE
MARGIN
BLANK



http://www.xtremepapers.net

Total for this question: 20 marks

Jackson Ltd manufactures a single product.
The costs per unit are expected to be:
materials. 3 metres at £5 per metre

labour: 15 minutes at £12 per hour
variable manufacturing overheads at £3 per unit.

Each unit is sold at marginal cost plus 20%.

The total fixed overheads are expected to be £52 500 per year.

REQUIRED

(@ Define the term ‘marginal cost’.
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(d) Calculate total revenue at the break-even point.

Turn over for the next question
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Total for this question: 23 marks

Damir Ltd isasmall business which manufactures toys.
The following information is available for the next four months.

January February March April
Expected sales (units) 2000 2200 2300 2200
Additional information
(1) Eachunit sellsfor £15.
(2) Each month, 20% of the sales are expected to be on a cash basis.

(3) Fifty per cent of debtors are expected to pay after one month. The remainder are
expected to pay after two months.

(4) Debtorson 1 January are expected to be:

£21 600 from December sales, of which £10 800 will be paid in January and the
balance in February;

£7200 from November sales, which will be paid in January.

www.theallpapers.com

LEAVE
MARGIN
BLANK


http://www.xtremepapers.net

7 LEAVE
MARGIN
BLANK

REQUIRED

(@) Prepare adebtors budget for Damir Ltd for each of the four months January to April.

(14 marks)

Damir Ltd continued to trade as expected. Unfortunately, in May, it was discovered that
a debtor had gone into liquidation and would not be able to settle the debt in full. This
debtor owed money for 600 units sold in December. Only £1800 had been received in

December for these sales.

(b) Explain how thisinformation will affect Damir Ltd's cash flow.

Question 3 continues on the next page
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(c) Explain what measures Damir Ltd should take to improve future debtor control.

Total for this question: 6 marks
4 REQUIRED

Explain the meaning of the term ‘social accounting’.

END OF QUESTIONS
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